'Hawa [N 100 Z

Fitting for top-running wooden doors up to 100 kg (220 Ibs.), with surface mounted
running track. Optionally with soft and self closing mechanism. Wall or ceiling mounting.

Product highlights \\/
@ Comfort Accessible opening and soft and self closing at

both sides from door widths of 800 mm (2' 7 1/2") I
&Tﬁ Flexibility Running tracks for wall and ceiling mounting with

integrated clip-on system
Security Performance guarantee: 15 years for private use

and 7 years for commercial use on incomparably

low opening forces of max. 22 N
Technical specifications
[ Max. 100 kg (220 Ibs.)
w Max. 4000 mm (13' 1 15/32")
&2 Max. 3000 mm (9' 10 1/8")

/~/\
)« 35-80 mm (1 3/8" to 3 5/32")
P

Installation examples

14

58

1dn
132

34 Demontierbar
11 Removable
% Demontable 595
:
f 32
m=m| |/ ] T
= a =
[ ] sl ] e L i ° E[
3% [ 3% . S|
&%= 1 &=
]
G
| I o
+4 éé +|4 é é
25 -4 25 -4
T T 21130 32
2 2 54 ﬁ
5.4 5.4
32 H32
5 |5
32 32
R = R
= = I LN 03x3
| |
== =
1l ool S|
22 40 22 >88
In 9u In 150
8 136 8 3%
12 10 o
15 [13.] o3
32 32 T
3 8%\% Sy HES Shae
BER 2|y _— L
34 ~toy ~ oy 34 ~tojey g %

Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Set for 1 wooden door up to 100 kg (220 Ibs.)

No.
Hawa Junior 100 Z, for 1 door 30151
No.
o
L )
Set consisting of: @
Two-way suspension plate 2 11002
Set with suspension bolts
M10, hexagon nuts, screws 1 13525
and buffer
Bottom guide, zero tole-
rance, groove width 10 mm 1 14427
(13/32"), plastic, black
/ Vertical adjustment pin 1 10795
Set for 1 wooden door, with running gears
and magnetic soft closing mechanism
No.
Hawa Junior 100, 2 running gears, for 1 door 30064
Hawa Junior 100, 1 running gear, 1 SoftMove 100
. . 30149
with running gear and stopper, for 1 door
Hawa Junior 100, 2 SoftMove 100 with running
30150
gear and stopper, for 1 door
slolo No.
{HE
Set consisting of: ®|(®|®
Running gear,
2-wheeled, M10, 2|1 30137
ball bearing
Soft close SoftMove
100, with running 119 30509
gear, stopper and
cover, premounted
Accessories for set 30064/30149
No.
Stopper Hawa Junior 80/100, 30138
with adjustable retention spring
SoftStop Hawa Junior 80/100, 27771

with adjustable retention spring

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

'Hawa [N 100 Z

Complete set for 1 wooden door,
with SoftMove and/or SoftStop

No.

for 1 door

Hawa Junior 100 Z / Z Pocket, with 2 SoftStop,

30237

Hawa Junior 100 Z / Z Pocket, with 1 soft close
SoftMove 100 and 1 SoftStop, for 1 door

30242

Hawa Junior 100 Z / Z Pocket with 2 soft close
SoftMove 100, for 1 door

30244

Set consisting of:

30237
30242
30244

No.

Running gear,
2-wheeled, M10,
ball bearing

30137

SoftStop Hawa
Junior 80/100, with
adjustable retention
spring

27771

Two-way
suspension plate

11002

Set with suspension
bolts M10, hexagon
nuts, screws and
buffer

13525

Bottom guide,
zero tolerance,
groove width
10 mm (13/32"),
plastic, black

14427

Vertical
adjustment pin

10795

Soft close SoftMove
100, with running
gear, stopper and
cover, premounted

30509

59




m Migllelg 100 Z

Running tracks Guide tracks
mm mm
(inch) No. (inch) No.
1,400
R 10189 Guide track, for
@718 ) 1,300
groove mounting, 5316 14540
1,600 10190 plastic, 10-piece set ¢ )
(63 "
1,800
(5'107/8") 10191 Panels
2,000 10192 mm
66347 (inch) No.
, 2,200
£¢ Running track, 258" 10193 2I,000“ 27685
aluminum, anodized, 2500 (66347
pre-drilled ’ 10194
(8'27/18") 019 2,500 30331
(8'27/16")
931’032 . 18532 3,000
@ 10v8H Clip-on panel to ©101/8" 27684
4,000 18533 running track,
(13'1 15/82") aluminum, anodized 4,000 30332
6,000 10186 (13'115/32")
(19' 8 7/32") 6,000 27683
cut to 10188 (19' 8 7/32")
size cut to 07697
2,000 size
© 634" 27673
Spacer tracks
2,500 30323 P
(8'27/16")
3,000 m
Running track, wall o 1018 y 27672 (inch) No.
mounting, aluminum, 2,000
anodized, pre-drilled | 4:000 30324 Spacer track, oy | 0573054200
(13'115/32") for wall mounting,
6,000 07671 plastic, gray cutto | y57.3054.990
(19'87/32") Size
cut to
size 27695
Running track, wall 2,500 30613
mounting, extended | ©'2716"
spacing of +11 mm 6,000
% (7/16") between door | (19'87/32") 30614
and wall, aluminum
R L cut to
anodized, pre-drilled size 30666
Running track, wall 2,500 30615
mounting, extended (8'27/16")
spacing of +20 mm 6,000
(25/32") between (19' 8 7/32") 30616
door and wall,
aluminum, anodized, cut to 30667
pre-drilled Size
2,000 27677
(6'63/4")
2,500 30320
(8'27/16")
- 3,000
2 Runnir?g track, (?eiling @ 101/87) 27676
mounting, aluminum,
anodized, pre-drilled 4,000 30321
(13'115/32")
6,000 27675
(19' 8 7/32")
cutto 27696
size

60 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



'Hawa [N 100 Z

Panel end component set, 59 mm (2 5/16"), aluminum,
for running track 27671, 27672, 27673, 27695, 30323, 30324

Panel end component set, 79 mm (3 1/8"),
can be shortened, aluminum, for running track 30613,
30614, 30615, 30616, 30666, 30667

No.
Panel end component set, left, 30141 No.
59 mm (2 5/16"), anodized Panel end component set, left,
79 mm (3 1/8"), anodized 30591
Panel end component set, right, mm ( ), anodize
" . 30142 :
59 mm (2 5/16"), anodized Panel end component set, right, 30592
79 mm (3 1/8"), anodized
No.
— | QN
< | < No.
. S| o = | &)
Set consisting of: ® | ® B &
Set consisting of: IR
Panel end component
Z,59 mm (2 5/16"), left, | 1 30038 Panel end component
aluminum, anodized Z, 79 mm (3 1/8"), left, 1 30588
aluminum, anodized
Bracker connector, 5 | 2 | 0573051101
steel, zinc-plated ’ ’ SN Bracker connector,
steel, zinc-plated 1|1 057.3051.101
Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4 | 4| 011.0101.171 _ Screw, M4x2.6 mm
zinc-plated (5/32"x 1/8"), steel, 2|2 | 011.0101.171
‘ zinc-plated
Panel end component
Z, 59 mm (2 5/16"), right, 1 30040 Panel end component
aluminum, anodized Z, 79 mm (3 1/8"), right, 1 30589
aluminum, anodized
Panel end component set, 66 mm (2 19/32"), aluminum,
for running track 27671, 27672, 27673, 27695, 30323, 30324 Accessories
in combination with spacer track 057.3054.xxx N
o.
No.
Panel end component set, left, 30143 Bottom door stopper, with 21473
66 mm (2 19/32"), anodized centering, stainless steel look
Panel end component set, right, 30144
66 mm (2 19/32"), anodized Bottom door stopper, with
' 20773
centering, chrome-plated, matt
Clip component for wooden
No. and aluminum panel, every
Q|3 % 500 mm (1' 7 11/16"), 057.3117.001
Set consisting of: S aluminum, pre-drilled
<3 Hawa SoundEX for
Panel end component \\'/‘ . .
Z. 66 mm (2 19/32"), left, | 1 30037 ,fo Hawa Junior 80, includes 19589
aluminum, anodized ] fixing parts for running track
Bracker connector, Bottom guide, rattle proof,
steel, zinc-plated 2 | 2| 057.3051.101 groove width 10 mm (13/32"), 25058
plastic, black, 10-piece set
Screw, M4x2.6 mm
(5/32"x 1/8"), steel, 4 | 4| 011.0101.171
zinc-plated
Panel end component Z,
66 mm (2 19/32"), right, 1 30039
aluminum, anodized
Subject to technical modifications. Metric specifications are exact. Inches are approximate. 61




'Hawa [N 100 Z

Further installation examples

59 725
Demontierbar 34 D i P 2%“
Removable 14 Removable 34 035
2 i 495 7 16
Demontable Demontable 13 B ST
i % é o 3| | 8
71 Im=ml TN T ES ]
- d Li B —yle L N
H Sk Ly H u SiES Qoke o F|oR
2| Fey =4 = 2| e T = /g
o|&ly OLP 3 O
Q% [ 1 g Q= 1 <[z
H L o
1 B[] ? @
| S S o | I | ~
+4 +4 éé +4 +4
25 4 25 4 2 -4 -4
32 32 32
5. 5., 5, .
+ +sy + + 35—2
|2 |5 |2 |5
32 32 32 32
Blende/Cover/Couverture
. Deckenmontage/Ceiling mounting/Montage au plafond
Further installation examples Calculations of clip-on panels
Wall mounting rails with extended spacing of +11 mm/+20 mm 16 3 Schiene/Track/Rail Schiene/Track/Rail 14
50 |[dn 170
(7/16'/25/32") between door and wall. 8 | 2
79.5 70.5
3%\. Z%H
=]} =iy e e B[
I o g D:‘_LB I L g G:‘—S = '_N'_
TH e i R i :
% : e : 7= Holzblende/Wooden fascia/Cache en bois Clipblende/Clip fascia/Cache & clipser
b ] = Schiene/Track/Rail + 19 (3) = Schiene/Track/Rail + 12.5 (1) 15
o o A
16
+4 +4
25 @ 25 i 16 3 Schiene/Track/Rail Schiene/Track/Rail 14
pET 3 5u | [In 17n
2 3 8 |8 32
5. 5.,
32 32 i i
5. 5. Sy S
W el el = =
= | = = |
I I n
Do G T == : LN gl
T %6 2 15 2| 3w
| |
Holzblende/Wooden fascia/Cache enst')ois Clipblende/Clip fascia/Cache & c\ipswer
= Schiene/Track/Rail + 19 (3" = Schiene/Track/Rail + 12.5 (5"
Hawa Confort 120 chiene/TrackRall + 19 () @l
16

The convenient solution to an old problem. Inadequate
fastening options in brittle sub-floors or in the area of
floor heating. This bottom guide is mounted on the wall.

10__ 40
3 Wg..
8 16
10
3N

ISR

3020135  Fhseo
1%” (%.._1%..)

62 Subject to technical modifications. Metric specifications are exact. Inches are approximate.



Hawa SoundEx
Contains the transmission of structure-borne noise from

a sliding system to the building.
<450

'Hawa [N 100 Z

1 5%7(2%

37

SoftMove 100 magnetic soft closing mechanism

Completely integrated into the running track, the SoftMove

decelerates sliding doors and draws them into their final position.

130
5&..

STB > 650

STB>2' 113"

£ S L 1 BNy Z N,
UL LIL
130 130
5%" 5%\\
STB > 800
STB>2' 74"
Accessories Planning/execution

— Hawa Junior bottom guides for wall mounting from page 508 Further information about the product can be found

— Lock solutions from page 511
— General accessories from page 518

on www.hawa.com.

Subject to technical modifications. Metric specifications are exact. Inches are approximate.

63





